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5,433

UL

44,260
4,700
39,560

44,760

A 500

19,060

19,560

A 500

6,740
6,740

6,740
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2N
X ZH -
L= B

el

=y

ol =Xt
o & X
FSAEet RS
B O (S0) - NIRAY - HES il
—AMNEEE 7Y 1,000, 000& 1,000
—HATH A2E 7Y S 1,000,000 1,000
—HHIIEE 2 HAZT 7Y
50,000& = 12& 600
—JIEEBEE M 50,000& = 12& 600
— A LEH &
15,000& = 401 = 12& 720
— MAFH S (SADI2 48) 1,000,000 1,000
— 2o FHIAIAE 110,000& » 128 1,320
— &= gtz 500,000& 500
02 8323l 9,320 9,820
O3 & HA 4,920
—&IAER 250,000& = 12& 3,000
— ot AMER 35,000& « 12& 420
— 33X Hal 100,000 * 13| 100
—SIMNERES 50,000& * 23| 100
— dIEH &3l 600,000 600
—NASMNEREY HEEE= 700,000& 700
OA& &l Xl 1,000
—HEHANE 5 RAES 1,000,000 1,000
OXt& & Bt 3,400
- XEssEH 200,000& = 12& 2,400
— &R =4HHl 1,000, 000& 1,000
S AH2 S I 3,000 3,000
OHIZSAE SAES 300,000& = 103l 3,000
AU NS 18,000 18,000
= 3,600
i 14,400
JIEtE &3 18,000 18,000
ONJASAHEHEZE &
,500,0002 * 1% 128 18,000
< 3,600
i 14,400
gI2tol & 2,200 2,200
< 1,100
i 1,100
QIHFMAIEE X 2,200 2,200
OXNSAMAS=NS 2,200,000& = 13l 2,200
= 1,100
e 1,100
AMEHI L2 5,000 5,000
1 A& HI 5,000 5,000
OXNZSALHEH &34 A e 5,000,000& 5,000
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M HoH SN
& HFSALE2RS (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
AHSA2Ls =& 108,280 108,230 50
201 £B-2d| 23,180 24,180 A 1,000
01 At 22l 23,180 24,180 A 1,000
Oget==EH| 13,000
— NEASAMAL RSWUM ol
3,000& » 1,000% 3,000
—XNEASA Y EEE2 ME
1,000& » 1,000% 1,000
—NHASMNES S22 MH
1,000,000 = 43l 4,000
— NESAH AAX 2b 3,0008 = 1,0008 3,000
— NS AMAHUE 222 M 1,000,000 1,000
—OtgelXl s¥Ees 1,000,000 1,000
o2g+g 4,680
~ MHASALHDARE RS
70,000& = 23] = 129H 1,680
—NEEMK LA (HE,SSDK)
150,000& * 203 » &H13l 3,000
Oogxz 5,500
—AESAt EZLSE & = LGESALUHE
ek Xt 1,500, 000& 1,500
— A TJSAAL HEHA 4 Xt
500,000& * 4CH 2,000
— N SAH HEE BAYR
500,000& * 4CH 2,000
202 044l 7,200 7,200 0
01 = LH o4 1l 7,200 7,200 0
OXNESAA 243 2=
150,000& » 4% = 128 7,200
203 YR =&l 1,500 450 1,050
03 A FAH S =AY 1,500 450 1,050
OXESAEH 2+ 3] 250,000& = 63l 1,500
206 M= Hl 5,000 5,000 0
01 =8l 5,000 5,000 0
OXNASAEES MEH (OIESAE  BESALY)
5,000,000& 5,000
301 LA F 10,400 10,400 0
09 #HALAHIXI &3 10,400 10,400 0
ONESAt & - SLusSEAI AH24
2,000,000& 2,000
OXNISALAL 2EEA, I35 4% 24
100,000& = 10H¥ = 23l 2,000
OXWOtEeH Ls&EH JHE  1,000,0008 = 23] 2,000
OFBAEXNIASA HESW 500,000& * 23 1,000
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ol = x| 1t
S5 e
AT IR = )
5 - 4
M- B (B H) - NSAY - B %@ﬁ 2t
301 et A= 11,500 11,500 0
12 JIEtE2 A= 11,500 11,500 0
O0ISSAXE NIASAH SAHA B4
50,000& = 1Y = 232 * 10& 11,500
= E& NISAIEE I AHlA & 3,918 4,654 ANT736
= 1,959
= 588
= 1,371
307 2Iz2t0| & 3,918 4,654 ANT736
= 1,959
= 588
= 1,371
06 22 3,918 4,654 ANT736
OXLEAL AHEE2(3,0008)
3,918,000 3,918
= 1,959
= 588
= 1,371
HHSHAY (==X 39,948 44,956 AN5,008
Al (2= 39,948 44 956 AN5,008
=224 (Fo=XWm) 39,948 44,956 A5,008
201 et 9| 22,648 21,456 1,192
01 AP 22| H| 22,648 21,456 1,192
Ogtt4f2Y| 400,000€ = 19Y¥ 7,600
O=3&H| 15,048,000 15,048
202 04d| 11,400 10,800 600
01 2L I 11,400 10,800 600
OJlggaaa 50,000& = 19 » 12& 11,400
203 ¥ 2 =&XH| 4,200 7,500 A 3,300
04 FEASHEYIFFEH| 4,200 4,200 0
OEMSIgELEF=8H| 350,000 ~ 12€ 4,200
204 &R 4= A H| 1,200 4,200 A 3,000
01 MEEZHR2LSHAY| 1,200 4,200 A 3,000
OXzM I A2 FKH| 100,000 = 12& 1,200
405 XHoHFE S HI 500 1,000 A 500
01 XA 2B F S| 500 1,000 A 500
O0l&ZMHIR Q! 500,000& = 1CH 500
S(F0=EXW) 880,635 1,085,448 N 204,813
WEHH XS (F2=XH) 880,635 1,085,448 N 204,813
WEHHXES (==X 880,635 1,085,448 A 204,813
701 JIEISI HSEE2 880,635 1,085,448 A204,813
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2H: FoI=X D
Hegs(

B HRES(FUSAD)
e WHEHHKS(F=e=X)
- _ _ RE]
SN EHD B (3H) - MEAY - BAS ol &k o8 %@i
01 JIEIS HEE 2 880,635 1,085,448
Oozs20II2Eg3H &&= 880,635,000& 880,635
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